Math Numbers and Operations 5_7

Student Name:

Date:

1.
$0.20 + $0.30 + $0.40 = ___
A. $0.70
B. $0.80
C. $0.90
3.
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07-03=__
A. 0.7
B. 0.5

C.04

49-28=__

A. 6.7
B. 2.2
C. 21

84-32=__

A. 52
B. 6.4
C. 82




. 1 .
Ann is 55 -5 in. tall.

She grows 4 in.

About how tall is she now?

A. 55in.
B. 50 in.
C. 59in.
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A. o7
17
B. 5
7
C. 5
7.
50’ of string
Ned takes 25' of this string.
How much is left?
1
A. T
1
B. >
1
C. 5
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10.

Oscar has 2 cups of juice.

1 .
He uses - cup for a smoothie.

How much juice is left?

Janet has 3.7 pounds of peaches and
2.2 pounds of apples.

About how many pounds of fruit does
she have in all?

A. 0.5 cups
B. 1.5 cups
C. 1.75 cups

1.
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3 kids share these cookies equally.

About how many cookies does each kid
get?

C. 4
12.
Step 1:
44 L
6 12
What is the next step?
A. 6+12
4 1
B. F + ﬁ
8 1
C. ﬁ + ﬁ



13.

.13
There is s of a cake.

3
Ned eats =

About how much is left?

1
A -5
1
B. &
5
C. 3
15.
Step 1:
13
2 18
What is the next step?
9 3
A. W - W
4 3
B-$~ %
6 3
C. ﬁ - W
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The gray part of this pie is about ___

EN NN

[N [N




